Year 3 Autumn 2 Maths Activity Mat 1

How many 4s make 207?

What is 5 times 6?

The time is half past 4 in the
afternoon. Write this using
am or pm.

There are 22 slices of bread
in one loaf. How many slices
are there in 3 loaves?

Section 1 Section 2 Section 3 Section 4
A flower bed has 56 yellow Halve these numbers: If the perimeter of this shape
flowers and 34 red flowers. x 10 = 60 is 12cm, what is the length
How many flowers are there 24 —» of one side?
altogether?
x 5 = 25

20 ——

18 ——
Section 5 Section 6 Section 7 Section 8

Use the column method to
work this out:

54 x 2
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Year 3 Autumn 2 Maths Activity Mat 1 Answers

Section 1
A flower bed has 56 yellow
flowers and 34 red flowers.
How many flowers are there
altogether?

Section 2

Section 3
Halve these numbers:

24 —» 12

Section 4
If the perimeter of this shape
is 12cm, what is the length
of one side?

How many 4s make 207?

What is 5 times 6?

30

The time is half past 4 in the
afternoon. Write this using
am or pm.

4:30pm

There are 22 slices of bread
in one loaf. How many slices
are there in 3 loaves?

66

5 x 5 = 25
18 — | o
920 3cm
Section 5 Section 6 Section 7 Section 8

Use the column method to
work this out:

54 x 2

108
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Year 3 Autumn 2 Maths Activity Mat 1

Section 1 Section 2 Section 3 Section 4
A school concert is Halve these numbers: If the perimeter of this
watched by 165 people 27 = - 9 shape is 40cm, what are the
in the afternoon and 193 4L — > lengths of the other sides?
people in the evening. How 14em
many people watched the 32 =+ = 8
performances altogether? 32 —

68 ——
Section 5 Section 6 Section 7 Section 8

Which number, when
multiplied by itself, gives an
answer of 257

What is 16 times greater
than 2?

The time is quarter to three
in the afternoon. Write this
using the 24-hour clock.

There are 123 sweets in

3 packets altogether. How
many sweets are in

one packet?

Use the column method to
work this out:

85 x 3
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Year 3 Autumn 2 Maths Activity Mat 1 Answers

Section 1 Section 2 Section 3 Section 4
A school concert is Halve these numbers: If the perimeter of this
watched by 165 people 27 = 3 - 9 shape is 40cm, what are the
in the afternoon and 193 46 —— | 23 lengths of the other sides?
people in the evening. How 14em
many people watched the 32 =+ 4 = 8
performances altogether? 32 —| 16

68 — | 34

358 14cm, 6cm, 6cm

Section 5 Section 6 Section 7 Section 8

Which number, when
multiplied by itself, gives an
answer of 257

What is 16 times greater
than 2?

32

The time is quarter to three
in the afternoon. Write this
using the 24-hour clock.

14:45

There are 123 sweets in

3 packets altogether. How
many sweets are in

one packet?

41

Use the column method to
work this out:

85 x 3

255

W**
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Year 3 Autumn 2 Maths Activity Mat 1

Section &4

If the perimeter of a rectangle
is 17cm and the shortest side
is 4cm, what are the lengths
of the other sides?

Section 1 Section 2 Section 3
There are 2813 spaces in Halve these numbers:
a car park. 1684 spaces 36 = = 4
have been taken. How many 124 ——»
spaces are empty?
8 «x = 64
132 ——»
21 =+ = 3
300 ———
Section 5 Section 6 Section 7

Which number, when
multiplied by itself, gives an
answer which is half of 18?

The time is twenty-seven
minutes to five. Write this
using the 24-hour clock.

Cans of dog food cost 36p.
How much do 8 cans cost?

Section 8
Use the column method to
work this out:

329x3
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Section &4

If the perimeter of a rectangle
is 17cm and the shortest side
is 4cm, what are the lengths
of the other sides?

4.5cm, 4.5cm, 4cm

Section 1 Section 2 Section 3
There are 2813 spaces in Halve these numbers:
a car park. 1684 spaces 36 = 9 = 4
have been taken. How many 124 ——— | 42
spaces are empty?

8 x 8 = 64

132 ——— | 46
21 =+ 7 = 3 300 150
1129

Section 5 Section 6 Section 7

Which number, when
multiplied by itself, gives an
answer which is half of 18?

The time is twenty-seven
minutes to five. Write this
using the 24-hour clock.

16:33

Cans of dog food cost 36p.
How much do 8 cans cost?

£2.88

Section 8
Use the column method to
work this out:

329x3

987
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